Macroeconomics Q4 1st Test Review

EddY and KC

A tax base is simply the item on which tax is calculated; in other words, the basis for tax
The most common tax bases:

· Personal income – (i) wages & salary, (ii) investment income, (iii) business income on sole proprietorship or partnership


Taxable income- income on which tax must be paid; total income minus exemptions and deductions


Withholding- taking tax payments out of an employee’s pay before he/she receives it

· Transaction taxes – sales tax and value-added tax (tax included in the sale and production of goods, reflected by price)


Excise tax- tax on the sale of a good
· Asset/property taxes – usually on property


Estate tax- tax on the estate, or total value of the money and property, of a person who has died


Gift tax- if someone gives the estate to another, then the estate is considered a gift, which is charged a tax

· Corporate income taxes – sometimes worldwide and sometimes just in the country
· Import duties (usually known as import taxes or tariffs)
· Usage of certain services – road tax, stamp duties, TV sets, etc.
Tax incentive- the use of taxation to encourage or discourage certain behaviour (such as tobacco, alcohol, or energy conservation)

	Tax structures
Proportional Taxes – a tax for which the percentage of income paid in taxes remains the same for all income levels.
Progressive Taxes – a tax for which the percent of income paid in taxes increases as income increases.
· Tax brackets- a range of income with a certain tax amount
Regressive Taxes – a tax for which the percentage of income paid in taxes decreases as income increases.

· Sales tax is a kind of regressive tax
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Characteristics of a good tax
· Simplicity- tax laws should be simple and easily understood.

· Efficiency- government administrators should be able to collect taxes without spending too much time or money.

· Certainty- it should be clear to the taxpayer when the tax is due, how much is due, and how it should be paid.

· Equity- the tax system should be fair, so that no one bears too much or too little of the tax burden.

To fully evaluate the fairness of a tax, it is important to think about who bears the burden of the tax. The incidence of a tax is the final burden of the tax. The more inelastic side bears more burdens.
Federal Spending
Mandatory spending – spending that the government is obligated to by law; 60-65%

· Of which Social Security & Medicare are biggest parts

· Others = unemployment insurance, debt service
Discretionary spending – everything that the government can decide on year by year; 35-40%
· Of which military is about one half

· Balance is everything else – education, environment, science, farm subsidies, foreign aid, national parks, etc.

Entitlement programs – social welfare programs that people are “entitled” to if they meet certain eligibility requirements
· Social Security- Old-Age, Survivors, and Disability Insurance (OASDI)

· Medicare- a national health insurance program that helps for health care for people over age 65 or with certain disabilities

· Medicaid- a national health insurance program that helps for health care for poor people
Fiscal policy- the use of government spending and revenue collection to influence the economy

Two tools of fiscal policy and their effect on GDP

GDP = C + I + G + (X – M)

Government spending changes G directly
Tax cuts changes C and I indirectly
Federal budget- a plan for the federal government’s revenues and spending for the coming fiscal year (a twelve-month period)
Expansionary policies- fiscal policies, like higher spending and tax cuts, that encourage economic growth

Contractionary policies- fiscal policies, like lower spending and higher cuts, that encourage economic growth

	Limits of fiscal policy

· Difficulty of changing spending levels

· Predicting the future

· Delayed results

· Political pressures

· Coordinating fiscal policy
	Lags in fiscal policy
Recognition – slow
Administrative – slow 
Operational – fast


Classical economics- the idea that free markets can regulate themselves

Demand-side economics- the idea that government spending and tax cuts help an economy by raising aggregate demand

Keynesian economics- a form of demand-side economics that encourages government action to increase or decrease demand and output

Multiplier effect- the idea that every one dollar of government spending creates more than one dollar in economic activity

In an economy, there are always leakages, which include savings, imports, and taxes. 100 subtracts the percent of leakages is a number called the marginal propensity to consume (MPC). The multiplier is 1 / (1 – MPC). The amount of money that the government has to spend (X) in order to inject a certain amount Y is given by: Y = X * (1-MPC), or X / multiplier.
If the government wants to inject 80 dollars into the economy, and the marginal propensity to consume is 80%. Then the amount of money that the government actually has to spend is 80 * (1-80%) = 16 dollars. 
Automatic stabilizer- a government program that changes automatically depending on GDP and a person’s income

If the economy is strong, income is high, everyone’s income taxes rise, unemployment insurance goes down, then economic activity slows down (contractionary).
If the economy is weak, income is low, everyone’s income taxes lower, unemployment insurance goes up, then economic activity speeds up (expansionary).
US: Personal income and payroll taxes make over 80% ; stabilizer is more effective
China: VAT & consumption taxes make up almost 40%; personal income taxes make up only 7% ; stabilizer is less effective
Supply-side economics- a school of economics that believe tax cuts can help an economy by raising aggregate supply

Laffer curve- as taxes rise, so will the revenue, but as it reaches over a certain barrier, tax revenue would drop
Budget surplus- the government takes in more than it spends

Budget deficit- the government spends more than it takes in

Debt- in order to spend more than it earns, the government borrows; debt is the accumulation of borrowing/deficits overtime

Crowing-out effect- the loss of funds for private investments due to government borrowing
Clinton surpluses- Clinton was a conservative in fiscal spending policy; his government spending was small and taxes on the rich were high; pay-as-you-go (spending with current government funds, not borrowing); economic growth
Bush deficits- War in Iraq and Afghanistan; tax cuts; Medicare Prescription Drug (Part D); continued borrowing
Obama deficits- government spending to get out of the recession; no tax increases; continued borrowing
In the article Austerity Debacle by Paul Krugman, he debunked the idea that cutting spending is the right way to get out of the recession. While UK claims that cutting spending (thus less borrowing, which trying to pay back the debt) boosts the confidence of investors.
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